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CHEMISTRY 

CHE-05 : ORGANIC CHEMISTRY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt all the four questions. 

1. 	(a) Write the IUPAC name of any two : 
A 	

(i) H2C = CH — CH. COOH 

CH3 

CH3 
(ii) H3C - C - CH2 - CHO 

C2H5 

lx2=2 

(iii) Br NH2  

(b) Assign R or S configuration to any one. 1 

COOH 

(1) 	H2N 

CH2OH 
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OH 

Cl 

  

NO2  

  

    

CH3  

(c) Assign E or Z configuration to any one : 	1 

Br 
(i) 	

C ,CH3 

HO/ = C \ NH2  

H3C, ,CH2OH 
(ii)C=C H/ 	\ CHO 

(d) Write the structure of : 	 1 

1-ethoxy-2-methylpropane 

2. 	Answer any five from the following : 	2x5 =10 

(a) N, N - Dimethylaniline is less basic than 

N, N -Dimethyl-o-toluidine. Explain why. 

(b) By taking the example of p-Nitrophenol, 
explain the significance of intermolecular 
hydrogen bonding on the boiling point. 

(c) Hydrogens in ethyne are acidic. Explain. 

(d) How will you convert benzene to 

m - nitroaniline ? 

(e) Carboxylic acids exist as dimers in vapour 

state. Explain. 
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4-4  

Cl C) 

(f) 	Name the spectroscopic technique used to 

distinguish the following : 

and 

Give reason to support your answer. 

(g) Complete the following : 

0 

CH3 — C — NH P205 
 ? LiA1H 

? 
- 

3. 	Attempt any five from the following : 	3x5=15 

(a) Complete the following reaction, name it 

and give the mechanism : 

OH 

Na OH 
+CIICI3 	-4.- A  

(b) Explain Huckel's rule with two examples. 

(c) Explain the steps of Reformatsky reaction 

for preparation of 3 - hydrOxy - 3 - methyl 

ethyl bu tanoa te. 

(d) Name the following reaction: 

Give the ILTPAC name of the product. 
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(e) How can you convert aniline into 

p-nitroaniline ? 

(f) What is meant by 18 - crown - 6 ? Explain. 

Give use of crown ethers. 

(g) How can you convert the following ? 

(i) 
	Acetophenone into ethylbenzene. 

Benzaldehyde into cinnamic acid. 

4. 	Attempt any five from the following : 	4x5=20 

(a) 	Fill in the blanks : 

(i) Amino acids are the building blocks 

of 	 

(ii) Acetyl salicylic acid is 	 

(iii) In protein synthesis, each amino acid 

is specified by a set of three 

consecutive RNA bases, called a 

(iv) Hallucinogenic drugs like LSD belong 

to the class of 	 

(b) How will you distinguish between the 

following using chemical test ? 

1-Propanol and 2-Propanol 

Benzoic acid and phenol. 

Ethanamine and propan-2-amine 

Ethanol and Propanone 

(c) What is mutarotation ? Explain. 
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air 
CH3  

CH 

° CH3  

H2SO4 

? 	 ? 

(d) Define the following with reference to oils 
and fats. 
(i) Acid value 
(ii) Saponification value 
(iii) Iodine value 
Write their significance. 

(e) Give chemical equations for the following : 
(i) Wurtz reaction 
(ii) Gabriel synthesis of amines 
(iii) Williamson synthesis of ethers 
(iv) Rosenmund reduction 

(f) 	Complete the following reactions : 

CH3  
(i)  CH3  — C = CH — CH3  + HBr Peroxide 

(ii) CH2 = CH —CH= CH2  + Br2  + ? 

(g) 

(iv) 
H2SO4  NaOH 

The a-position in naphthalene is more 
reactive than (3-position towards 
electrophilic substitution. Explain. 
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1. 	(a) ri 	414 .1,-67 	9.11:1 
WWI 	 1x2=2 
(i) H2C = CH - CH. COOH 

CH3 

CH3 
H3C — C — CH2  — CHO 

C2H5 

(hi) Br NH2  

(b) r14,rrrgd 41 fow? 7W R S ated-44T4 1 
f91Tft Wifq : 

COOH 

(i) H2N 

CH2  OH 
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OH 

(ii) 	CI NO2  

  

CH3  

(c) 	4-1 idf{g-d 1i 	fwg7- 	E 3121-4T Z 

3111-1--4P;m4 	 : 

(i)  Br \ 	CH3  
C=C, 

HO"NH2  

(ii) H3C 	CH2OH 

1-1" 	\ CHO 

(d) 1-721-2-14f2V613fitich1 k1 	&i1 F f0-FURI 	1 

2. 	14--irriRgct -4 A 	t. 61-R q-lr`FR 	2x5=10 

(a) N, N - -q14-r?-t-d-kr19--d1-9 N, N - 

 	c 	 vrtzt 	 ti cqRsqf 

-w1f-A7W? 

(b) z-<roji 	 3td-Tf39-T 

	3IT4q9.  

(c) -Tzm 	3-1-171 	t oWY-11 .--1-rr--A7 

(d) 3-117   14 fit 

LiRcii-cici 	? 

CHE-05 	 8 



3. 

(e) qrtici 31---qT-2TT 	-wl-qif---4TrF---o-w 3.11r fgd--6{ -4; Tur 
-crr7wfi'l 

(f) 11-q. 	qr-fflf 	ffT91-w TT 

dTv, 	11-1 q-diN 

(g) 
  

0 

P  205 	A/H4  CH3  — C — NH2 	? Li  
A 

.4 2%-pjrtiv- 	
I 	3x5=15 

(a) f9-L-9-ft-rfuff aifirrwm 	 2.fr pz*-T 
7'4 47fwqrr-c---Fc4 frifa-7 : 

OH 

+ CNC/ 	 ? 3 

NaOH 
 A 

(b) T--rzr-d-r 4 .gme 	&fr-ccqr 

(c) 7RFi 	"q-ir4 

31-M ,-Tr 4,7 
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(i) 

(d) F-14-1Foftqci 3114Tiwzn 4 Vi 

	

	: 

? . 

11- CHO 

71ff 6c-(-11 	 fffr-T17 I 

(e) 31T  	l*I -  

Ra 	? 

(f) 18--W-F- 6 3117 	?1iVJ 

If 	 -qT-rrN 

(g) 3Trq 	Fri {. ,7[ 	-fcR4 -q-qTR   ? 

(i) .kTfrzFiNt.1 1 1 -F2r.-, 

(ii) n ft14 	TI:(q 

	

4. f9-1---1---R-Td q,rrF-5T : 	4x5=2C 

(a) 	ft--4?f 	91-F-rt : 
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(b) 	4W:111 t 3-7r 	3ii4 f-11-16 Ot1 4 
Fcm-1 9chlt fir cha ? 

(i) 

ath 

741Th 3 to17-2-t:fri 

(iv) T-r4 

(c) 	trft-491 	Tiff qzfrilcir t? ce4Ksql --1-rR-R 

(d) 	dril3 t atir3 	Fii-Giroci 1. 71-ftcirrfErff 

(i)  

(ii) -11,1-11chtu 1TH 

4-Wc1 qik NI 

(e) 	fig d 	rc-N 	cfroi fofig7 : 

(i) r 31-N1w:a 

(ii) tgrlt tirW 	ui 

rcircitv+ii t-R,c;tiul 

(iv) t4' .v aTcr-A-zrff 

CHE-05 	 11 	 P.T.O. 



7 

CH3  

CH3  

(iii)  0-- Li 
H2SO4  
	 ? 

(f) fa-r--10-tm 3trifiwzri311 	t1wlf-4R 

(i) CH3  
4 1.1+115 	7  

CH3 — C = CH — CH3+ HBr 

(ii) CH2 = CH — CH = CH2  + Br2  +? 

(iv) I2SO4 7 
NaOH 
	 ? 

(g) 
	WM -I 14 a—ft4u 	isrfut-RITcri 

vft-9-if 	3fer-qi 3Trif-wzrl 	t 167rLql 

-I 
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